
 

 

 

 

 

 

 

 

 

There is just enough 
information here, 
along with Figure 2, 
to recreate the 
circuit.  A schematic 
would have been a 
more professional 
and concise way to 
convey this 
information. 

Calls which function?  
Your reader stumbles 
here hand has to 
figure something out 
that could have been 
directly stated.  (Poor 
grammar--missing 
antecedent.) 

Your code shows 
"500 ms."  It is sort of 
an insignificant 
factual error, but it 
leaves the reader 
with a taste of 
nonchalance that 
reduces the veracity 
of the entire report.   


